05-May-2008 03:24 PM

ftp://198.145.188.2/std_plan/st61767.dgn [Metric]

480

See Detail A —_|

710 900 900 1500 1500

See Detail B

15p R

1500

See Detail C

Standard Guardrail
Section

1500

See Standard M617-60
for steel-backed timber
guardrail details

B

| T

See Connection to
Conc. Anchor Details

L B

| Two 150 x 10 x 1725 150 x 10 x 2925 Steel transition rail

-l

|
L ¢

150 x 10 x 2925

Y

Two 150 x 10 x 410
Steel terminal section rails

steel terminal o

section rails 150 x 10 x 3415 Steel transtion splice rail

Two 150 x 10 x 620
Steel terminal section rails
PLAN

Pay Limits Connection to Structure

steel transition rail

Pay Limits Guardrail

150 x 150 x 2990
Rough sawn timber rub-rail

T system STBA or SBTB
|

[ooa |

| s00

:r***m oae T : oo

000

_ i\ﬂ‘:E[ _
m

150 x 150 x 4490
Rough sawn timber rub-rail

W 200 x 325 - 2250 Steel post

4 — ‘”77
]
4
Groundline/ e e

Post 1

Plate washer

250 x 300 x 2400

Rough sawn timber post \ "

250 x 300 x 2400

Rough sawn timber posts

ELEVATION

Post 2

Plate washer \

250 x 300 x 2100

M16 x 350 Carriage bolt
w/hex nut and plate washer

Rough sawn timber posts
100 x 225 x 300 Block

150 x 10 x 900 Steel splice plate See Detail D

150 x 150 x 1650
Rough sawn timber
rub-rail (See Detail D)

75 150 75

SHEET

STATE NUMBER

PROJECT

NOTE:

1. See the following sheets for Sections A-A through
C-C, steel rail layouts, and other details.

2. Use weathering steel for all structural steel and
fastener hardware.

3. Transition shown for curved end structure. For
transition to a straight parapet end, install the
timber rail so that the face of the timber rail is
offset 25 mm towards the roadway.

4. Furnish hardware in the metric sizes shown.
Equivalent US Customary sizes may be used
when metric sizes are not available.

5. Dimensions without units are millimeters.

250 x 300 x 2100
Rough sawn timber post !

100 x 150 x 300 Blockout x

150 x 150 x 2990 it

Rough sawn timber rub-rail \

M16 x 500
Carriage bolt w/hex
nut and plate washer

an
250 x 300 x 2100 ‘

h 250 x 300 x 2100
! Rough sawn timber post

Rough sawn timber posts

150 x 150 x 2990

! 100 x 150 x 300 Blockout

150 x 150 x 1650 Rough
sawn timber rub-rail ]

Rough sawn timber rub-rail N‘

M16 x 400
Carriage bolt w/hex

10

M16 Dia. x 350
Carriage bolt w/hex
nut and plate washer

100 x 225 x 300 Blockout

150 x 10 x 900
Steel splice plate

150 x 10 x 2930
f Steel rail transition

150

2 - 150 x 10 x 1725 Steel i 150 x 10 x 3415 Steel
rail terminal sections | transition splice rail
)
bk o 5
RN 400 " ‘
‘ T T i i T i
150 x 250 x 2990 732, 220 Lﬂ’ 150 x 10 x 2930 75|75
Rough sawn timber rail (typ.) (typ.) Steel rail transition (typ.)
3 M20 x 215 Carriage bolt
22 Dia. hole (typ.) w/hex nut & washer (typ.)
DETAIL B

POST CONNECTION

i

(typ.)
22 Dia. hole (typ.)

220

DETAIL C

Y \
150 x 250 x 2930
Rough sawn timber rail

M20 x 215 x Carriage bolt
w/hex nut & washer (typ.)

NO SCALE

POST 7

nut and plate washer

Plane block
for rail flare

M16 x 500
Carriage bolt w/hex
nut and plate washer

110

Plane post
for rail flare

POST 8

L

DETAIL D
RUBRAIL CONNECTION PLAN

U.S. DEPARTMENT OF TRANSPORTATION
FEDERAL HIGHWAY ADMINISTRATION
FEDERAL LANDS HIGHWAY

METRIC STANDARD
STEEL-BACKED TIMBER GUARDRAIL
TL-2 TRANSITION TO STRAIGHT

OR CURVED-END STRUCTURE
Sheet 1 of 3

STANDARD APPROVED FOR USE --/----

REVISED:
DRAFT:

STANDARD

M617-67

5/2008




05-May-2008 03:24 PM

ftp://198.145.188.2/std_plan/st61767.dgn [Metric]

SHEET

STATE PROJECT NUMBER

E <—|
Adjust angle in field

— ¢ post & footing
A I

Existing wingwall

E <—| Existing wingwall
= ) 3 [} 450
/ o Adjust angle in field | / b ¢ post & footing ' W200 x 19.3
I l S ] by ¥ S 5 E—
7/ B e
DS I A . . )
S gt & e E : ™
R F <! o/ b E:ﬂ §; ¢ of Ssymmetry
L D ja— Ly D i — 25
HSS 228.6 x 127.0 x 9.5 Oio TOP 25 L
ASTM A500 Grade B or A501
NON-FLARED WINGWALL
o G FLARED WINGWALL . 0 e
I N
- 200 900 e 420 Ground line ‘ !/7 g&?’;rete olle| !
75 CIr. 75 3@250=750_ | 75 N o 8 200 16.3 I
. #5 Stirrups i i Q x 19. I o
45 rebar T (typ.) P #5 Stirrups N 5 / | 3
M. \ ‘ ! - ) e 3 !
‘: ‘ | I | / 2-#5 Stirrups R EJ $1:$ '
S S g ‘ b oA 3 S8 I
3 3 | ‘ | 7 Sl RS 2 8 1
| | ol - AN B
| R I8 c || Al . L
o : ‘ : ‘1 1 - q‘:; ﬂ - = ~8 All holes 22 mm i
g e A TNT
500 Dia. round or [ ‘ ‘ : : Use 500 diameter round o "H - g |
. ‘ anchor or 450 square S0 g
450 square anchor —/T & | | \ anchor. Reduced size / R 3 H
SECTION D-D ELEVATION SECTION E-E acceptable In solid rock. — | . AH ll : 3 |
B |
CONNECTION TO CONCRETE ANCHOR q‘: I :\
\
M20 x 150 Carriage bolt w200 x 19.3 M20 x 350 Carriage bolt SIDE FRONT
w/hex nut & washer (typ.) Steel post (typ.) w/hex nut & washer (typ.)
CONCRETE ANCHOR FOR STEEL POST
HSS 152.4 x 101.6 x 12.7 - 1620 1 - Steel splice plate
length (See Note 3, Sheet 1 of 3) 150 x 10 x 1620 GUARDRAIL POST
2 - Steel rail sections 150 x 10 x 400 S s O 1118 wgﬁg ﬁf o D 2 - Steel rail sections
[ — B e o T 150 x 10 x 1715 10 (St .
30 Lo o Lo iRt Lo (Steel rail)
e gj e e [ [ ili RS S
—— o nail 150 150 x 250 x 2990
T < A T I 12d nail —_ | Rough sawn timber rail w/
1s0x250x2005 S () Lo 7 IR 100225 x 300 blockout
Rough sawn timber rail YYVY Y Y'Y Y I y
75| 75| 225 (typ.) 290 (typ.) | 75| 75 225 (typ.)| 75 75 S > — M16 Dia. x 500
(typ (typ-) (typ 22 Dia. hole (typ.) i %g Carriage bolt w/hex
2 - Steel rail sections 125 Dia. x 25 depth recess 4 1 nut and plate washer
DETAIL A Hi6 Dia. x 500 0l ©
arriage bolt w/hex IN
POST CONNECTION PLAN 100 19 (Steel rails) nut and plate washer —|
100 30 (Steel rails) [
. 150 x 250 x 2990 t Maximum slope 1:10 —
250 150 ; . . [
1 3£t§p1 ggcﬁep":; " ZCR 150 150 x 250 x 2995 Rough sawn timber rail with 12d ”u‘z” Y = Rough sawn timber rail w/ 600 min. 150 x 150 x 2990 and 650
‘ ‘ HSS 152.4 x 101.6 x 12.7 - 1615 length gl Nl 2 x x ockou 250 x 300 x 2100 /J_«#L long rough sawn timber rub-rail
K} I i Rough sawn timber post with 100 x 150 x 300 blockout
~ — 2 - M20 Dia. x 300 | — M16 Dia. x 500
o z ' Carriage bolt w/hex [} Carriage bolt w/hex SECTION C-C
2-M20Dia. x 150 < bt and plate washer 125 Dia. x 25 depth recess 4 Iw  nutand plate washer
Carriage bolt w/hex I 73 1 | ] g Q
nut and plate washer N M16 Dia. x 525 | § U.S. DEPARTMENT OF TRANSPORTATION
W 200 x 19.3 - 2250 Steel post o Y Cat,: L ’a%e tl,otl‘t w/l h5,'7X ] ¥ FEDERAL HIGHWAY ADMINISTRATION
x 19.3 - eel pos < Maximum slope 1:10 = nut and plate washer FEDERAL CLA;DS HIGHWAY
T [ . < Maximum slope 1:10 —~ METRIC STANDARD
600 ‘: H 100 x 10 x 1620 Steel rail 600 min, ' : L 150 x 150 x 4495 and 2990 STEEL-BACKED TIMBER GUARDRAIL
R 150 x 150 x 4495 long 250 x 300 x 2400 /J—/\ L long rough sawn timber rub-rail TL-2 TRANSITION TO STRAIGHT
rough sawn timber rub-rail Rough sawn timber post with 100 x 150 x 300 blockout OR CURVED-END STRUCTURE
with 100 x 150 x 300 blockout Sheet 2 of 3
SECTION A-A SECTION B-B NO SCALE STANDARD APPROVED FOR USE --/---- STANDARD
REVISED: M617_67
DRAFT:  3/2008




05-May-2008 03:24 PM

STATE PROJECT

SHEET
NUMBER

ftp://198.145.188.2/std_plan/st61767.dgn [Metric]

400 - 620 1715
QT 7575 75 175 235 7575 235 175 _ 75 75, 1050 7575 190 o
18 Dia. holes for 22 Dia ‘o
ﬁl —J ( ( ~ 22 Dia. holes (typ.) ﬁl ( ( W ?l W ( lag screws (typ.) holes (typ.) ( ( W J
St o % S o o S o o o 5/ Y / o ‘o\‘z o }
Y ™ o 0 Y o\o p Y o o o o o o
End of timber rail
it ﬁ End of timber rail ot 22 Dia. holes (typ.) ot
Face of wingwall inset 325 175 175 175 175 175 175 340 @
TERMINAL SECTION
TERMINAL SECTION 150 x 1 Oi 662.0 o TERMINAL SECTION
150 x 10 x 400 150 x 10 x 1715
2930
190 75 75 2250 . 75 75 190 900
T 18 Dia. hol T ﬂ 75=‘= 5==75=‘= 225 >l 225 =‘=75== 5=‘=75
. ia. NOIes
knuL 22 Dia. holes (typ.) lag screws (typ.) 22 Dia. holes (typ.) (L ml ‘ ‘ ‘ ‘ ‘ ‘ ‘
QE Z/o’ \O o / S o™ o } o | @ @ o ® oo | K
® o) Q —
o o o o o o o \Endof r © ] @ GR\ ® ® @ ot
timb. il
‘J’,f — imoerrat %QT 20 x 55 Bolt slot
340 L 300 |75 e 275 |, 275 | 275 | 275 | 275 |, 300 | 340 30 22 x 30 Bolt slot (typ.)
TRANSITION SECTION STEE1L5§)’(,11'55E9 g;LA TE
150 x 10 x 2930
3415
190 _ 75 75 2250 7575 225 225 7575 75
,E;L 22 Dia. holes (typ.) 22 Dia. holes (typ.)
o o o o o* o o o o
s 0T o
o o o o o o o o ? o o o
gﬁi 20 x 55 Bolt slot
340 B 30 |75| 200 | 275 | 275 | 275 | 275 | 275 | 300 | 825
TRANSITION SECTION
150 x 10 x 3415
1620 1620
757575, 225 285 7575 285 225 757575 450 720 450
n ~
mL ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ al s 200 =T 250 250 =T 220 =T 250 250 T‘ 200
—~
® ® @ ® ® @ ® @ @ In
o Ny e
® —>
E © @ o i ® © @ ® o @ ‘.Q“ X © FD o i = o 7§
mf 22 x 30 20 x 105 20 x 105 Bolt slot L 18 Dia. holes j
Bolt slot (typ.) Bolt slot (typ.) for lag screws (typ.) U.S. DEPARTMENT OF TRANSPORTATION
#E.DERAL HIGHWAY ADMINISTRATION
STEEL SPLICE PLATE RUB-RAIL TRANSITION SECTION FEDERAL LANDS HIGHWAY
150 x 10 x 1620 100 x 10 x 1620 METRIC STANDARD
STEEL-BACKED TIMBER GUARDRAIL
TL-2 TRANSITION TO STRAIGHT
OR CURVED-END STRUCTURE
Sheet 3 of 3
NO SCALFE STANDARD APPROVED FOR USE -—/—- STANDARD
REVIEEREI:;—T: 3/2008 M617-67




	FLH Standard Drawings
	(M)617-67: Steel-backed Timber Guardrail Test Level 2 Transition to Straight or Curved End Structure 
	Metric
	Architectural
	Sheet 2 of 3
	Sheet 3 of 3

	Traditional
	Sheet 2 of 3
	Sheet 3 of 3

	WFLHD
	Sheet 2 of 3
	Sheet 3 of 3


	US Customary



	M617-67a1: 
	M617-67t1: 
	M617-67w1: 
	Region: 
	State: 
	Project: 
	M617-67t2: 
	Sheets: 
	M617-67a2: 
	State1: 
	Project1: 
	M617-67w2: 
	State2: 
	Project2: 
	NPS: 
	M617-67t3: 
	M617-67a3: 
	M617-67w3: 


